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Exhibit

user@srx> show security flow sessiocn/ family ineté
Flow Sessions on FPC10 PIC1:
Session ID: 410000066, Policy name: default-policy=@@/2, Timeout: 2, Valid
In: 2001 :dbf8::6:2/3 > 2001 :dbfB:5::2/73141wpe, If: ge—7/1/0.0, Pkts: 1,
Bytes: 104, CP Session ID: 410000Q7§ 251
out: 2001:dbf8:5::2/7214  —=% .?3.21:d5f8:5::2/323;imlp6, Tz S Yocad i L0 I B e et S
Bytes: 104, CP Sessidnlh:C#Y0000076
Seasion ID: 41000006d; Policy name: default-policy—-00/2, Timeout: 2, Valid
Tn: 2001:dbf8::6:2/4 —> 2001 :dbf8:5::2/7214;icmpé, I£: ge*?/lf-’).ﬂ, Pkta: 1,
Bytes: 104, CP Seasion ID: 410000077
out: 2001:dbf8:5::2/7214 ——-> 2001:dbf8::6:2/4;icmpé, If: .local..0, Pkcts: 1,
Bytes: 104, CP Session ID: 410000077

Total sessions: 2
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Which statement is true about the output shown in the exhibit?

* The SRX Series deviceis configured with default security forwarding options.

* The SRX Series deviceis configured with packet-based |Pv6 forwarding options.
* The SRX Series deviceis configured with flow-based | Pv6 forwarding options.

* The SRX Series deviceis configured to disable IPv6 packet forwarding.

NEW QUESTION 51

Y ou have the NAT rule, shown in the exhibit, applied to allow communication across an IPsec tunnel between your two sites with
identical networks.

Which statement is correct in this scenario?

* The NAT rule with transl ate the source and destination addresses.
* The NAT rulewill only translate two addresses at atime.

* The NAT rulein applied to the N/A routing instance.

* 10 packets have been processed by the NAT rule.

NEW QUESTION 52
According to the log shown in the exhibit, you naotice the IPsec session is not establishing.

What is the reason for this behavior?

* Mismatched proxy ID

* Mismatched peer ID

* Mismatched preshared key

* |ncorrect peer address.

https://www.juniper.net/documentation/en_U S/rel ease-independent/nce/topi cs/exampl e/policy-based-
VpN-using-j-series-srxseries-device-configuring.html

NEW QUESTION 53

Y ou are connecting two remote sites to your corporate headquarters site.Y ou must ensure that all traffic is secured and sent directly
between sites In this scenario, which VPN should be used?

* |Psec ADVPN

* hub-and-spoke |Psec VPN

* Layer 2VPN

* full mesh Layer 3 VPN with EBGP

NEW QUESTION 54

Exhibit.
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reserved S50;

zone {
maxismum 100; (
:eurvei%ﬁ‘su( e -G

Lotﬁa.\tea_dre ss |

maximun 115;
reserved 100;
}
nat-stetic-rule |
maximun 125;
reservyed 100;
. !
{edic)

user@Gerxi show tenants
-1 |
eecurity~-profile |
8rp-1)

Referring to the exhibit, which two statements are true? (Choose two.)

* The c-1 TSY S has areservation for the security flow resource.

* The c-1 TSY S can use security flow resources up to the system maximum.

* The c-1 TSY S cannot use any security flow resources.

* The c-1 TSY S has no reservation for the security flow resource.

The system security profile named sp-1 has designated resources for policies and zones with a maximum of 100 and a reservation of
50 each. For NAT with no port address translation (nat-nopat- address), there is a maximum of 115 and a reservation of 100, and for
static NAT rules (nat-static-rule), there is a maximum of 125 with 100 reserved.

When considering tenant systems, the profile applied (sp-1) will dictate the resources available to the tenant system named c-1.

The c-1 TSY S has areservation for the security flow resource. &#8211; Thiswould be true if the & #8216;security flow
resource& #8217; refers to policies and zones since there are reservations made in the profile sp-1.

The c-1 TSY S can use security flow resources up to the system maximum. &#8211; Thisis generally true for any tenant system
unless there are explicit limits set that are lower than the system maximum.
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NEW QUESTION 55

your company wants to take your juniper ATP appliance into private mode. Y ou must give them alist of impacted features for this
request.

Which two features are impacted in this scenario? (Choose two)

* False Positive Reporting

* Threat Progression Monitoring

* GSS Telemetry

* Cyber Kill Chain mapping

Y our company wants to take your Juniper ATP Appliance into private mode. Y ou must give them alist of impacted features for this
request.

The two features that are impacted in this scenario are:

A) False Positive Reporting. False Positive Reporting is a feature that allows you to report false positive detections to Juniper
Networks for analysis and improvement. False Positive Reporting requires an Internet connection to send the reports to Juniper
Networks. If you take your Juniper ATP Appliance into private mode, False Positive Reporting will be disabled and you will not be
able to report false positivesl.

C) GSS Telemetry. GSS Telemetry is afeature that allows you to send anonymized threat data to Juniper Networks for analysis and
improvement. GSS Telemetry requires an Internet connection to send the data to Juniper Networks. If you take your Juniper ATP
Appliance into private mode, GSS Telemetry will be disabled and you will not be able to contribute to the threat intelligence
community?2.

The other options are incorrect because:

B) Threat Progression Monitoring. Threat Progression Monitoring is a feature that allows you to monitor the threat activity and
progression across your network. Threat Progression Monitoring does not require an Internet connection and can be performed
locally by the Juniper ATP Appliance. If you take your Juniper ATP Appliance into private mode, Threat Progression Monitoring
will not be impacted and you will still be able to monitor the threat activity and progression3.

D) Cyber Kill Chain mapping. Cyber Kill Chain mapping is afeature that allows you to map the threat activity and progression to
the stages of the Cyber Kill Chain framework. Cyber Kill Chain mapping does not require an Internet connection and can be
performed locally by the Juniper ATP Appliance. If you take your Juniper ATP Appliance into private mode, Cyber Kill Chain
mapping will not be impacted and you will still be able to map the threat activity and progression4.

Reference: False Positive Reporting GSS Telemetry

Threat Progression Monitoring Cyber Kill Chain Mapping

NEW QUESTION 56

Y ou are required to secure a network against malware. Y ou must ensure that in the event that a compromised host is identified
within the network.

In this scenario after athreat has been identified, which two components are responsible for enforcing MAC-level infected host?
* SRX Seriesdevice

* Juniper ATP Appliance

* Policy Enforcer
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* EX Series device
You are required to secure a network against malware. Y ou must ensure that in the event that a compromised host is identified
within the network, the host isisolated from the rest of the network.

In this scenario, after athreat has been identified, the two components that are responsible for enforcing MAC-level infected host
are:

C) Policy Enforcer. Policy Enforcer is a software solution that integrates with Juniper ATP Cloud and Juniper ATP Appliance to
provide automated threat remediation across the network. Policy Enforcer can receive threat intelligence feeds from Juniper ATP
Cloud or Juniper ATP Appliance and apply them to the security policies on the SRX Series devices and the EX Series devices.
Policy Enforcer can also enforce MAC-level infected host, which is afeature that allows you to quarantine a compromised host by
blocking its MAC address on the switch port. Policy Enforcer can communicate with the EX Series devices and instruct them to
apply the MAC-level infected host policy to the infected host1.

D) EX Seriesdevice. EX Series devices are Ethernet switches that can provide Layer 2 and Layer 3 switching capabilities and
security features. EX Series devices can integrate with Policy Enforcer and Juniper ATP Cloud or Juniper ATP Appliance to provide
automated threat remediation across the network. EX Series devices can support MAC-level infected host, which is afeature that
allows them to quarantine a compromised host by blocking its MAC address on the switch port. EX Series devices can receive
instructions from Policy Enforcer and apply the MAC-level infected host policy to the infected host2.

The other options are incorrect because:

A) SRX Series device. SRX Series devices are high-performance firewalls that can provide Layer 3 and Layer 4 security features
and integrate with Juniper ATP Cloud or Juniper ATP Appliance to provide advanced threat prevention. SRX Series devices can
receive threat intelligence feeds from Juniper ATP Cloud or Juniper ATP Appliance and apply them to the security policies.
However, SRX Series devices cannot enforce MAC-level infected host, which is afeature that requires Layer 2 switching
capabilities and is supported by EX Series devices3.

B) Juniper ATP Appliance. Juniper ATP Appliance is a hardware solution that provides advanced threat prevention by detecting and
blocking malware, ransomware, and other cyberattacks. Juniper ATP Appliance can analyze the network traffic and identify the
compromised hosts based on their behavior and communication patterns. Juniper ATP Appliance can also send threat intelligence
feedsto Policy Enforcer and SRX Series devices to enable automated threat remediation across the network. However, Juniper ATP
Appliance cannot enforce MAC-level infected host, which is afeature that requires Layer 2 switching capabilities and is supported
by EX Series devices.

Reference: Policy Enforcer Overview EX Series Switches Overview
SRX Series Services Gateways Overview [Juniper ATP Appliance Overview]
NEW QUESTION 57

you are connecting two remote sites to your corporate headquarters site. Y ou must ensure that traffic passes corporate headquarter.
* In this scenario, which VPN should be used?

* full mesh IPsec VPNs with tunnels between all sites

* afull mesh Layer 3 VPN with the BGP route reflector behind the corporate firewall device

* alayer 3 VPN with the corporate firewall acting as the hub device

* hub-and-spoke IPsec VPN with the corporate firewall acting as the hub device

The most appropriate VPN topology when you need to ensure that all traffic from remote sites passes through the corporate
headquarters would be a hub-and-spoke model. In this model, the corporate headquarters acts as the hub, and all remote sites
(spokes) connect to it. This ensures that inter-site traffic goes through the headquarters, which can be important for security policy
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enforcement, logging, or other centralized services.

Hub-and-spoke IPsec VPN with the corporate firewall acting as the hub device &#8211; This setup will ensure that all traffic from
the remote sites is routed through the corporate headquarters, allowing centralized control and inspection of the traffic.

NEW QUESTION 58
Refer to the exhibit,

[edit security alarms
user@sarxf show
policy {
source-ip |
threshold 1000;

. e
aesAst

shold 1000;
duraticn 10;

)

application |
size 10240;

)

policy-match |
threshold 100;
size 100;

)

which two potential violations will generate alarm ? (Choose Two)

* the number of policy violations by a source network identifier

* theratio of policy violation traffic compared to accepted traffic.

* the number of policy violation by a destination TCP port

* the number of policy violation to an application within a specified period

The exhibit shows a security policy configuration with athreshold of 1000 policy violations by a source network identifier and a
threshold of 10 policy violations to an application within a specified period. If either of these thresholds are exceeded, an alarm will
be generated. Therefore, the correct answer is A and D. The other options are incorrect because:

B) Theratio of policy violation traffic compared to accepted traffic is not a criterion for triggering an alarm.
The security policy configuration does not specify any ratio or percentage of policy violation traffic that would cause an alarm.

C) The number of policy violation by a destination TCP port is aso not a criterion for triggering an alarm.
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The security policy configuration does not specify any threshold or duration for policy violation by a destination TCP port.
Reference: policy (Security Alarms)

Monitoring Security Policy Violations

NEW QUESTION 59

Exhibit

userfarx> show log flow-log

| Apr 13 17:46:17 17:46:17.316930:CID-0:THREAD. ID-01:RT:<10.10.101.10/65131—
>10.10.102.1/22;6,0x0> matched filter Fl:

Apr 13 17:46:17 17:46:17.317009:CID-0:THREADI ID~01:RT: routed (x: dst ip
10.10.102.1) from trust (ge-0/0/4.0 in 0) to/ge~0/0/S5.0, Next-hop: 10.10.102.1
Apr 13 17:46:17 17:46:17.317016:CID-0:THREAD ID-
01:RT:flow. first policy seaxch: policy aeéfﬁh;frbm;ZOHn truat-> zone dmz
(0Ox0, Ox£fetb0016, 0x16)

Apxy 13 17:46:17 17:46:17.317019:CI0-0THREAD | ID-01:RT:Policy lkup: vays O
zone (8:trusat) -> zone (9:dmz) scope:D

Apx 13 17:46:17 17:46:17.317020:CTD70:THREAD  ID-01:RT: 10.10,.101.10/65131 —>

10.10.102.1/22 proto 6
Apxr 13 17:46:17 17:46:17.317031:Cc1D-0:THREAD! TD-01:RT: /permi iy

trust—to—dmz(8)

Apr 13 17:46:17 17:46:17.317031:CID-0:THRERD J\j" Kk passed,
Permitted by policy A,S

Apr 13 17:46:17 17:46:17.3170§ xeﬁ %r

0/0/S.0(P2P) as out |
Apx: 13 17:46:17 217 % =1 D- -0 :THREAD ID-01:RT:is loop pak: Found loop

smma,

~01l:RT: 'chooae' interface ge—

0.10.102.1, rtt idx: 0 addr type:0x3.

on i e 1

Ar 1:46:17.317044:CID-0:THREAD ID-

01 - . _loopback_check: Setting interface: ge-0/0/35.0 as loop ifp.
Apr 13 17: 46'17 17:46:17.317213;CID-0Q;THREAD IDFQ1;RE

flow firat create session

Apr 13 17:46:17 17:46:17.217215;CID-0:THREAD IDr01:RT: £lgw first in dst nat:

0/0/5.0 as incoming nat if.

call Zlow route lookup(): src ip 10.10.101.10, % dst ip 10.10.102.%1, in ifp
ge-0/0/5.0, out ifp N/A sp 65131, |dp| 22, ip/prozo 6/ toa 0

Apr 13 17:46:17 17:46:17.317227:CID:0:THREAD ID-01:RT: routed (x dst ip
10.10.102.1) from dmz (ge-0/0/5.0 in 0) to .local..0, Next—hop: 10.10.102.1
Apr: 13 17:46:17 17:46:17.317228:CID-0: TEREARD  ID+ l
01:RT:flow first policy search: policy search from zone dmz-> zone junos—hoat

(Ox0, Oxfeeb0016,0x16)

Apr 13 17:46:17 17:46:17.217230:CID-0:THREAD ID-CLl:RT:Policy lkxup: vay=s 0
zone (9:dmz) —-> zone (2:junos-host) scope:D

Apx 13 17:46:17 17:46:17.317230:CID-0:THREAD ID-01:RT: 10.10.101.10/65131 ->
10.10.102.1/22 proto & i

Apxr 13 17:46:17 17:46:17.317236:CED—D::HREAD_IB*Dl:RT: packet dropped, denied
by policy

Apxr: 13 17 :46:17 17:4
ssh(9), dropping pkt
Apr 13: 17:46:17 17:46:17.317237:CID-0:THREAD IDnQ0L:RT: packet dropped, policy
deny.

E——

W p A3

&

:17.317237:CID-0:THREAD IDrQ1:iRTH denied by policy deny-—
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Y ou are using traceoptions to verify NAT session information on your SRX Series device.

Referring to the exhibit, which two statements are correct? (Choose two.)

* Thisisthelast packet in the session.

* The SRX Series device is performing both source and destination NAT on this session.
* Thisisthefirst packet in the session.

* The SRX Series deviceis performing only source NAT on this session.

NEW QUESTION 60

Which two additional configuration actions are necessary for the third-party feed shown in the exhibit to work properly? (Choose
two.)

* You must create a dynamic address entry with the [P filter category and the ipfilter_office365 value.

* You must create a dynamic address entry with the C& C category and the cc_offic365 value.

* You must apply the dynamic address entry in a security policy.

* You must apply the dynamic address entry in a security intelligence policy.

NEW QUESTION 61

Exhibit
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You are trying to configure an 1Psec tunnel between SRX Series devices in the corporate office and branchl. Y ou have committed
the configuration shown in the exhibit, but the IPsec tunnel is not establishing.

In this scenario, what would solve this problem.

* Add multipoint to the st0.0 interface configuration on the branchl device.

* Change the IKE proposal-set to compatible on the branchl and corporate devices.
* Change the local identity to inet advpn on the branchl device.

* Change the IKE mode to aggressive on the branchl and corporate devices.

NEW QUESTION 62

Y ou are requested to enroll an SRX Series device with Juniper ATP Cloud.
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Which statement is correct in this scenario?

* If adeviceisaready enrolled in arealm and you enroll it in anew realm, the device data or configuration information is
propagated to the new realm.

* The only way to enroll an SRX Series deviceisto interact with the Juniper ATP Cloud Web portal.

* When the license expires, the SRX Series device is disenrolled from Juniper ATP Cloud without a grace period

* Juniper ATP Cloud uses a Junos OS op script to help you configure your SRX Series device to connect to the Juniper ATP Cloud
service.

NEW QUESTION 63

Y ou have awebhserver and a DNS server residing in the same internal DMZ subnet. The public Static NAT addresses for the servers
are in the same subnet as the SRX Series devices internet-facing interface. Y ou implement DNS doctoring to ensure remote users
can access the webserver.

Which two statements are true in this scenario? (Choose two.)
* The DNS doctoring ALG is not enabled by default.

* The Proxy ARP feature must be configured.

* The DNS doctoring ALG is enabled by default.

* The DNS CNAME record istransl ated.

NEW QUESTION 64

Which two types of source NAT trandlations are supported in this scenario? (Choose two.)
* trandation of 1Pv4 hosts to |Pv6 hosts with or without port address translation

* trandation of one IPv4 subnet to one |Pv6 subnet with port address translation

* trandation of one |Pv6 subnet to another IPv6 subnet without port address translation

* trandation of one IPv6 subnet to another 1Pv6 subnet with port address translation

NEW QUESTION 65

Y ou are asked to provide single sign-on (SSO) to Juniper ATP Cloud.

Which two steps accomplish this goal ? (Choose two.)

* Configure Microsoft Azure as the service provider (SP).

* Configure Microsoft Azure as the identity provider (1dP).

* Configure Juniper ATP Cloud as the service provider (SP).
* Configure Juniper ATP Cloud as the identity provider (IdP).

NEW QUESTION 66

In an effort to reduce client-server latency transparent mode was enabled an SRX series device.

Which two types of traffic will be permitted in this scenario? (Choose Two)

* ARP

* Layer 2 non-1P multicast

* BGP

* |Psec

To answer this question, you need to know what transparent mode is and what types of traffic it permits.
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Transparent mode is a mode of operation for SRX Series devices that provides Layer 2 bridging capabilities with full security
services. In transparent mode, the SRX Series device acts as a bridge between two network segments and inspects the packets
without modifying the source or destination information in the I P packet header. The SRX Series device does not have an IP address
in transparent mode, except for the management interfacel.

Therefore, the types of traffic that will be permitted in transparent mode are;

A) ARP (Address Resolution Protocol) traffic. ARPis a protocol that maps | P addresses to MAC addresses. ARP traffic is atype of
Layer 2 traffic that does not require an | P address on the SRX Series device. ARP traffic is permitted in transparent mode to allow
the SRX Series device to learn the MAC addresses of the hosts on the bridged network segments2.

B) Layer 2 non-I1P multicast traffic. Layer 2 non-1P multicast traffic is atype of traffic that uses MAC addresses to send data to
multiple destinations. Layer 2 non-1P multicast traffic does not require an I P address on the SRX Series device. Layer 2 non-I1P
multicast traffic is permitted in transparent mode to allow the SRX Series device to forward data to the appropriate destinations on
the bridged network segments3.

The other options are incorrect because:

C) BGP (Border Gateway Protocol) traffic. BGP is a protocol that exchanges routing information between autonomous systems.
BGP trafficisatype of Layer 3 traffic that requires an IP address on the SRX Series device. BGP traffic is not permitted in
transparent mode, because the SRX Series device does not have an | P address in transparent mode, except for the management

interfacel.

D) IPsec (Internet Protocol Security) traffic. IPsec isa protocol that provides security and encryption for |P packets. |Psec trafficis a
type of Layer 3 traffic that requires an | P address on the SRX Series device.

I Psec traffic is not permitted in transparent mode, because the SRX Series device does not have an | P address in transparent mode,
except for the management interfacel.

Reference: Transparent Mode Overview

ARP Support in Transparent Mode

Layer 2 Non-I1P Multicast Traffic Support in Transparent Mode

NEW QUESTION 67

Y ou want to enroll an SRX Series device with Juniper ATP Appliance. Thereisafirewall device in the path between the devices.
In this scenario, which port should be opened in the firewall device?

* 8080

* 443

* 80

* 22

NEW QUESTION 68

Exhibit
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The highlighted incident (arrow) shown in the exhibit shows a progression level of &#8220;Download& #8221; in the kill chain.

What are two appropriate mitigation actions for the selected incident? (Choose two.)

* Immediate response required: Block malware | P addresses (download server or CnC server)

* Immediate response required: Wipe infected endpoint hosts.

* |mmediate response required: Deploy VP integration (if configured) to confirm if the endpoint has executed the malware and is
infected.

* Not an urgent action: Use IVP to confirm if machine isinfected.

NEW QUESTION 69

Exhibit:
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15er@vSRX$ show security | =

file debugger files 1f

. L (cASUMe:
flag basic-data pestsASY

2
flag rout?}og

flag tcp-basic;
flag host-trafific;

The security trace options configuration shown in the exhibit is committed to your SRX series firewall.

Which two statements are correct in this Scenario? (Choose Two)

* Thefile debugger will be readable by all users.

* Once the trace has generated 10 log files, older logs will be overwritten.

* Once the trace has generated 10 log files, the trace process will halt.

* Thefile debugger will be readable only by the user who committed this configuration

Once the trace has generated 10 log files, older logs will be overwritten. & #8211; Thisis generally trueif the configuration includes
afile count limit and the & #8216;world-readable& #8217; flag. Without the & #8216;world-readable& #8217; flag, only the

file& #8217;s owner or superuser can read thefile. If the & #8216;no-world-readable& #3217; flag is set, only the user that created
the file and root can read it.

Once the trace has generated 10 log files, the trace process will halt. & #8211; Thiswould be true only if the & #8216;files& #8217

statement is used without the & #8216;world-readable& #8217; or & #8216;no-world-readable& #8217; flag. If
&#8216;no-world-readable& #8217 is set, the trace files are not readable by all users.
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